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Section 1 - General Aptitude-English Subject

1) Read the passage below and answer the question
that follows :

The ravages [of the storm] were terrible in
America, Europe, and Asia. Towns were overthrown,
forests uprooted, coasts devastated by the mountains
of water which were precipitated on them, vessels cast on
the shore, whole districts leveled by waterspouts, several
thousand people crushed on land or drowned at sea; such
were the traces of its fury, left by this devastating tempest.

What is the meaning of the word leveled as it is used in
the passage?

A) razed
B) marked
C) spread
D) raised

2) In the following question, four alternatives are given for
the idiom/phrase italicised and underlined in the
sentence. Choose the alternative which best expresses the
meaning of idiom/phrase.

This is in vogue in some communities.

A) in fashion

B) out of use
C) vaguely used
D) never used

3) Find out whether there is any error in any part of the
below sentence. If yes, indicate the correct answer among
the given options, else indicate "No error”: | visited Ricky's
and Maria's house (1) / twice but didn't (2) / find the
couple. (3) / No error (4)

A) 1
B) 2
C)3
D) 4

4) Synonym of vent

A) Wet
B) Dent
C) End
D) Opening

5) Rearrange these parts labelled A, B, C and D to make

a meaningful paragraph, and choose the most
appropriate answer.

A. One of the beauties of Leo Tolstoy’s novel 'War and
Peace' is that it does not end when the war ends.

B. It ends instead when the hero gets married, and settles
down to a life of routine, even boredom.

C. In conveying this ceaseless ebb and flow of life, Tolstoy
captures its very essence.

D. Concluding it at the moment of heroic drama would have
destroyed the integrity of the novel.

A) ABDC
B) CABD
C) ADBC
D) ABCD

Pagelofl5



Set Id : 73909_3

11-12-2021 B2 LIVE 11DEC2021 Information Technology

Section 2 - General Aptitude

6) is a numerical label assigned to each

device participating in a computer network.

A) E-mail address
B) Topology

C) FTP

D) IP Address

<) . Teh HEACHS olddl § Sl Hged dcash &
A 3YHIOT HI AT AT §

A) & gar

B) @xararsir

C) uwérdr

D) 3m&dr gar

7) There are 24 students in dance class, and the teacher is
planning for an arrangement of students on stage.
Sampratha is 9th from the left side of the row and
Supreetha is 22nd from the right side of the row. Find the

number of dancers standing between Sampratha and
Supreetha?

A) 4
B) 5
C)6
D)7

7) U oJcd HET H 24 ©F § AR gt 7T W owET H
TIATAT HioIT AT §o17 I@T § | I9Ar 9fFa & a8 3R
T aAld T W AR gohar dffd & @ 3R @ 229
WA W R | FwAr 3R gar & dg @S aAdieat
HEIT AT HITAT

A) 4
B) 5
C)6
D) 7

8) Which of the following is the Civilian award conferred as
1stdegree of honour?

A) Padma Vibhushan
B) Ashoka Chakra
C) Kirti Chakra

D) Bharat Ratna

8) Frff@d # & &la-am AERES [WEHR HFdfed
TFA & & H YT Har Srar § 2

A) aegr fasTaoT
B) el T
C) Hfd =
D) iRa e

9) In November 2021, ................. hosted the first fully
digital Asia-Pacific Economic Cooperation forum.

A) New Zealand
B) India

C) Canada

D) Australia

9) FAae¥ 2021 #, frH ¥ 7 UYgell R QU HE &
ffotcer vRrar-gena e wgaler # @ Agameh @ -

A) it
B) stRa
C) Sarer
D) sffeeforar
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10) A merchant can buy goods at the rate of Rs. 20 per
good. The particular good is part of an overall collection
and the value is linked to the number of items that are
already on the market. So, the merchant sells the first good
for Rs. 2, second one for Rs. 4, third for Rs. 6...and so on.
If he wants to make an overall profit of at least 40%, what is
the minimum number of goods he should sell?

A) 24
B) 18

C) 27
D) 32

10) U SORY 20 T gfd ¥ # X @ Al g
THAT § | 9 AT A Hevold 1 ffewm § 3N o7
3o TEGIHT BT HEAT F ST I & SN Tgd F @ qoR H
T | safou, A ggel AT @ 2 FAT H, qEX H 4
U A, X A 6 FgT A .. 3R s R dTar g | I
aE Fol AT HA § HHF 40% HT A1 HAET =6l ¢,
L 38 &F A FA fhdar AT ST Aifge ?

A) 24
B) 18
C) 27
D) 32

11) If 17t March 2008 was Monday, what was 1st April
2012?

A) Sunday

B) Wednesday
C) Friday

D) Saturday

11) Ife 17 AT 2008 FF FFAR 41, A 1 3T 2012 FHr
FT AT ?

A) faar
B) quar
C) ypar
D) erferar

12) A man's speed with the current is 15 km/hr and the
speed of the current is 2.5 km/hr. The man's speed against
the current is

A) 9.5 km/hr
B) 10 km/hr
C) 10.5 km/hr
D) 11 km/hr

12) 9RT & AT Th AGHAT &r a1fad 15 km/hr & 3R &rT
@ afd 2.5 km/hr § | ORT & fa%eyr 3mear i arfa sar
giafr -

A) 9.5 km/hr
B) 10 km/hr
C) 10.5 km/hr
D) 11 km/hr

13) In an election contested by two parties, Party D
secured 12% of the total votes more than Party R. If party
R got 132,000 votes and there are no invalid votes, by how
many votes did it lose the election?

A) 300,000
B) 168,000
C) 36,000
D) 24,000

13) &Y goll @RI oS IV goA1g #, Uiéf D & uiéf R & el
arel &1 12% 318 urea fopar | afe arét R &1 132,000

dic Ao 3R FIS 3T dic 7T &, O fhda dler & 9
AT gR ?

A) 300,000
B) 168,000
C) 36,000
D) 24,000

14) A man sitting in a train which is traveling at 50 kmph
observes that a goods train, traveling in opposite direction,
takes 9 seconds to pass him. If the goods train is 280 m
long, find its speed in kmph?

A) 60
B) 62
C) 64
D) 65
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14) 50 kmph & ifd & Tol W ¢ & ST Th AHGAT
2Ear § & g Gar # aa W UF AGETE 3§ U
Fd H 9 HHhs & A oldl ¢ | I ATer@msr 280 #Hex
e §, a 39 Afd kmph & Fq ST :

A) 60
B) 62
C) 64
D) 65

15) Mrs.Veena wants to go to the Krishna Rajendra market.
She moved northwards and after covering some distance
turned left and moved 4 km and reached a crossing. The
road in front of her led to Jaynagar while the road on to her
left led to Bangalore Medical College and the road on to
her right led to the Krishna Rajendra market. In which
direction the Krishna Rajendra market is located with
reference to the starting point?

A) West
B) North-West
C) South-West
D) East

15) AW oM, FUN Tolg TR H S g § | T8
IR AT IR T8 AR FT g ¥ WA & 96 T IR
A AR 4 km T R TF FRT W A | 3AH
AH FT TEoh ATAIR T 3R Al o Safd 3T a8
IR T T SR ARFA FroraT A IR AT A 3R
3% elfgell 3R A Fsh FIOM IAslg TR N IR ST
A | eI g & peoT Wein IR fha feem 7 Fud
g ?

A) gfeas

B) 3ceR-afRea
C) gfgor-afRas
D) q§

16) Green India Mission was launched in 2014. The
primary aim is to

A) promote green energy in India.

B) promote techniques that will help in the optimum
utilisation of resources.

C) protect, restore and enhance India’s diminishing forest
cover.

D) None of the options.

16) eRd #RA fAwa 2014 & & fhar @ a1 | @
WIUTAS 36627 AT § :

A) 9 # gRa s Y Ferar &

B) 37 gl @ derar & S HEHE & HeJheldH
39T # HAce HLEN

C) #Ra & "ea oot &7 7 87, gediva 3R gefr
Sl

D) 1 fasea sTgt

17) If GOODNESS is coded as HNPCODTR, then how
GREATNESS can be written in that code?

A) HQZSMFRT

B) HQFZUFRTM
C) HQFZUODTR
D) HQFZUMFRT

17) af¢ GOODNESS ® HNPCODTR & ¥4 H &HIfad
fRaT ST §, @ GREATNESS & 39 @18 &§ & for@r
ST Tl & ?

A) HQZSMFRT

B) HQFZUFRTM
C) HQFZUODTR
D) HQFZUMFRT

18) When 0.36 is written in simplest form, the sum of the
numerator and the denominator is :

A) 15
B) 34
C) 64
D) 13
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18) & 0.36 & Tedd &9 H for@r Smar g, ar 37w 3R
& &1 9T fohce ghom

A) 15
B) 34
C) 64
D) 13

19) The following series is based on a specific pattern. Find
the next number in the pattern.

5,12, 23,50, 141, ?

A) 415
B) 430
C) 439
D) 488

19) fAeAfaf@d H@er ve faRIse deed o 3meama & |
Yoot #H 30Te FR Tt |

5,12, 23,50, 141, ?

A) 415

B) 430

C) 439

D) 488

20) Headquarters of World Trade Organisation

A) Washington DC, United States
B) Geneva, Switzerland

C) Paris, France

D) Vienna, Austria

20) fa9q IR HITS I HLATT Fel ¢ :

A) arfRierest S, wgFT T 3R
B) Sefrar, facerels

C) o, wig

D) fazar, siifeear
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Section 3 - Information Technoloqy

21) Round-Robin scheduling

A) Allows interactive tasks quicker access to the
processor

B) Is quite complex to implement
C) Allows processor-bound tasks more time in processor
D) Gives each task the same chance at the processor

21) 33 AT AsYfolar a1 §

A)éﬁ%ﬁﬁulaaiﬁcdﬁdqgﬂ@raaﬂﬁ
aar &

B) o] ¥t T sy Sifeer §
C) e & 3 @t A e 7 wfow g dar ¥
D) 9raeR W e 1 & FAT HGET &l &

22) In the instruction ADD A, B, the answer gets stored in

A) B
B) A
C) Buffer
D)C

22) TEE T,a fAcel # 3ca] fohae daga giar §

A) &
B) ¢
C) gt
D)

23) Wildcard domain names start with label

A @
B) *
C) &
D) #

23) ATSeSHIS ST T AH fhH el T YE g &

A) @
B) *
C) &
D) #

24) Point out the wrong statement.

A) Model based approach may be computationally
convenient

B) Model based approach uses Bayes theorem

C) Model based approach are reasonably inaccurate on
real problems

D) All of the options are wrong
24) T HYUA I AT A ¢

A) Fitser 3MTRE TR0 Fred §T § FRAUTSTE
& T &

B)mmmmmgﬁ@am
ST

C) areafasr wweanit @@ Aflsa 3mafd gieenor
JUIT ¥ § 69 §

D) @eft faeq od &

25) assigns IP addresses to devices on the network
automatically.

A) IPS

B) DDOS
C) VLAN
D) DHCP

p12) I Tgaifold & @ Scash W 3USION Sl IS
Tl F&Tel T §

A) smEdes
B) Srdi3nua
C) dreeruea
D) Sroereiiy
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26) Wireless Application Protocol (WAP) has several 28) ‘U’ Téed 3N ‘¥ UTH & @Y TH FTUNOT IH
layers. Which of the following is the security layer?

FHTA fhder T g § ¢
A) Wireless Security Layer (WSL)

B) Wireless Transport Layer (WTL)
C) Wireless Transport Layer Security (WTLS) B) tA— & uwss
D) Wireless Security Layer Transport (WSLT) )
C) (vt - &) (Wt — & — 1)/2 TSST

D) (weT — &) (TeT — & + 1)/2 TSoT

A) T Tser

26) dRRH Uftadhersd Weidie  (Ssegudl) # F3 oA
gl § | eafaf@a & @ geen o sla-ar g 2

29) Which of the following is not a type of cloud?

A) IRITerE FRET R (SSegUHT) A) Private
B) arRerd giEdie SRR (Ssegdive)

B) Public
C) arRaE e oY AT (SSegeITaud)
D) arered FRaT o’ TAIE (SseguaTed)

27) Context free languages are closed under

A) Union, Intersection

B) Union, Kleene closure

C) Intersection, Complement
D) Complement, Kleene closure

27) T A G R ¥ ¥ R e § -

A) ZfTe, FexaFI
B) aferaet, et FoR

C) geqqieere, sifecesie

D) srifEcerdie, Folel FaloR

28) A simple graph with N vertices and K components can
have at most

A) N Edges

B) N — K Edges

C) (N-K) (N - K -1)/2 Edges
D) (N-K) (N - K + 1)/2 Edges

Page70f15

C) Protected
D) Hybrid

29) farafaf@a # & Fia-ar Far3s &1 A8 & ?

A) s

B) ardeifaeh
C) wefara
D) arfars

30) In SQL the statement select * from R, S is equivalent to

A) Select * from R natural join S
B) Select * from R cross join S
C) Select * from R union join S
D) Select * from R inner join S

30) THHIUS H Helac +
et # & fhas s §

A) Faae * HH AT A e TH
B) Ytee * A 3 HH s TH

C) forae * w IR i sl T
D) @alere * A IR Soolk Siise ‘TH'

BH AR, T  HYd
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31) What is defined by the "handout" in MS office ?

A) Slide formatting

B) Paper copies of presentation to the audience

C) Handout content formatting for Microsoft word export
D) All of the options

31) THTE Hifthw & FE33e @rr FAr gRenida fRar
JMaT g ?

A) FaTEE TEIOT

B) gefet Fforw seclamor & Fmerel gfaat

C) Argspraire 98 wwdale &fov E83m3c  fawager
&YUT

D) siea s fRehed

32) The algorithm that can be implemented by repeatedly
adding (with ordinary unsigned binary addition) one of two
predetermined values A and S to a product P, then
performing a rightward arithmetic shift on P

A) Booth Algorithm

B) Kruskal's Algorithm
C) Dijkstra’s Algorithm
D) Binary GCD Algorithm

32) SR-GRX  (HTURUT IgEAEIRA T3l SIS & A1Y) ar
g fuifRa 7ot # @ e T 3R TH & 3 O A
Shseht o] fham ST el B, R ‘@r X us @@
RIAOIAT dFeolld &l YT fohar ST Tohal § | 39
TeaNRUHA T FIAT Fgl ST ¢

A) g7 TeamRy#A

B) sradrer Teaius

C) Roteregr TeaikyA

D) qrgerdy Sehd weaRem

33) technology aggregates log data, security alerts,
and events into a centralized platform to provide real-time
analysis for security monitoring.

A) SOC
B) SIEM
C) EMS
D) NMS

faealwuT gere e Hfau ofer srer, JeET e AR
TCATHT I T HGlhd Tolchid H ThiId el § |

34) The major difference between a moore and mealy
machine is that

A) The output of the former depends on the present state
and present input

B) The output of the former depends only on the present
state

C) The output of the former depends only on the present
input

D) None of the options

34) 7Y AR #Hreh &wfeT & g &1 JE&F R F41 §

A) g 3m3ee adAE Rafa 3R adAe sage W AR
T &

B) 9 3m3eye Faa oA Rufy W R war ¥

C) qd 3m3eqe Fad adAT sAqC W AN Far §

D) 1§ fyeheq w7ET
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35) Reasoning from a goal state towards an initial state is

37) N3 # TS A ARIS I Hfaw FH Foll 7
called search. >

g fRar Srar g 2
A) Reverse heuristic

B) Backward chaining A) st Foll

C) Reverse Engineering B) ardsifae &l

D) Breadth first 2
C) qg-amsm e gl
D) grsfrs it

35) e Fufa & uRfAs Rufa $r 3R g=are aF @

................ Q@IS Fgd ¢
38) As an analogy to the communication in computer

A) fras R networks, a railway track is an example of

B) Serarg Jafeier A) Full duplex

. . B) Simplex

C) Rt gehfaafiar
C) Half duplex

D) 95 wee

D) Analogy is not logical

36) Which of the following specifies WLAN security 38) ey Fcad H TURX & T & &7 A, W &5
standard ? ° ’ B

TR 3STEI0T §
A) |EEE 802.11a

B) IEEE 802.11b

A ot g
C) IEEE 802.11i B) Rrcdew
D) IEEE 802.11g
C) aref gayr
D) @reey drféres o1&t & |
36) SecgUATT F&TT Heleh foiee H & il fafese azar
g 2
39) What is the output of below program?
int main
A) eSS 802.11T { 0
B) const int a=10;
3T$33S 802,114 ot
C) 3m$dss 802.113M8 cout<<a;
return O;
D) 3m$&s< 802.1150 }
A) Compilation Error
37) Which key is used to decrypt the message in PKI ? B) 10

C) 11

A) Private Key D) Linking Error

B) Public Key
C) Pre-shared Secret Key
D) Hybrid Key
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39) A feT T i #T IM3CYe 4T ?
int main()
{
const int a=10;
a++;
cout<<a;
return O;

}

A) FaereT e
B) 10
C) 11
D) faifar 7

40) An operating system contains 3 user processes each
requiring two units of resources R. The minimum number of
units of R required to ensure that no deadlocks will arise
ever is

A) 3
B) 4
C)5
D) 6

40) TH 3R gomel F 3 IqTeTRaT fHaTd @i ¥
S & v&% & AR §dEuEr G gesdr @l
IARTHRAT B & | FE FARTT e Hfow & g
afARY 3cUel S8 @M, 98T ‘WX T PAaH FHheal
Fear foeaer gef

A) 3
B) 4
C)5
D) 6

41) Please go through the following code segment :-

int func(int a, int b){

if(b==0)
return O;
if(b==1)
return a;
return a + func(a,b-1);
}
What will be the output of :-
func(3,8);
A) 11
B) 22
C) 24
D) 21

41) F9IT FAFEATATET s TS @ W -

int func(int a, int b){
if(b==0)
return O;
if(b==1)
return a;
return a + func(a,b-1);
}
fArfaf@d &1 3m3eqe ar g -
func(3,8);
A) 11
B) 22

C) 24
D) 21
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42) End to end connectivity is provided from host to host in
the

A) Network Layer
B) Data Link Layer
C) Session Layer
D) Transport layer

42) fhE R # gRC ¥ g o TS T US daelideidel
YT & ST §

A) Fead I
B) grer fofer ol
C) Qe o
D) e o

43) Alpha and Beta Testing are forms of

A) Acceptance testing
B) Integration testing
C) System Testing

D) Unit testing

43) 3rewr 3R der qigTr AEAfaf@a A& @ fFasr §9 &

A) Tl adreror
B) wehrancor gdietor
C) gomelr gdreror
D) ger§ qdretor

44) Which of the following network algorithm can be used
to solve the travelling salesman problem?

A) Bellman — Ford algorithm
B) DFS traversal

C) A spanning tree

D) A minimum spanning tree

Pagellofl5

44) cafelar YouHd # AT & gd Fel AT
Feaf@a & O 9 dcad vemRyT F1 3uAer Far
ST dehel & ?

A) JerdleT - WIS TenRUA
B) rumuw davier

C) v wfder &

D) v fafaws | &

45) is a situation that occurs in OS when any process
enters a waiting state because another waiting process is
holding the demanded resource.

A) Deadlock

B) Circular Wait

C) Starvation

D) Mutual Exclusion

45) 3§ HIE Yihar udtem Fr Uy & yaw v §
Fifeh T 3T TeT YfohdT AT T TAT I GROT
W& & A 3Nvw F Pareh Fufa & w0 e Fmer §

A) arfarier

B) afas wchem

C) symardy

D) qreqRer afgserior

46) logs all the visits in log files which is
located at <%systemroot%>\logfiles.

A) lIS
B) Microsoft Server

C) Linux
D) IAS
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46) <%systemroot%>\logfiles W FEUT afeT wgel &
gl _Afdet & # @ter forar ST &

A) smSamsTa

B) mrssmraioe @dv
C) et

D} e

47) In the quick sort method, a desirable choice for the
partitioning elements will be

A) Element with highest number of occurrence
B) Median of the List

C) Either first or last element in the list
D) Any element with single or minimum occurrence

47) Fas @re (I #, Qores daat sfow e aoag
e Hia-AT ¥ :

A) gaiftie gfed g@aaten dca

B) @ @ Fnfeaer

C) g &1 a1 & ggen a1 3ifaH dea

D) vaver a1 wgiae wfed @aaren #$ i dea

48) When the time to establish link is large and the size of
the data is small, the data transfer mode preferred is

A) Circuit switching

B) Packet Switching

C) Time Division Multiplexing

D) Frequency Division Multiplexing

48) o9 oild Tafd at & AT 37 3R 3T &
IR BIEl gdr g, df, 3T TR Al # fhger

QI HSAT &7 ST §

A) gfde Raaa

B) dve feg=er

C) grar fstoT agahas
D)aﬁyﬁ'ﬁnﬂaa'agéé%ﬁ?
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49) Which provides runtime environment for java byte code

to be executed?

A) JDK
B) JVM
C) JRE
D) JAVAC

49) AT SSchs I fAsufed aa Ffow HesH
JTATROT Hied Y&Id HIAT & ?

A) 8%
B) Srdua
C) a3Rs
D) s

50) The average successful search time taken by binary
search on a sorted array of 10 items is

A) 2.6
B) 2.7
C)2.8
D) 2.9

50) 10 #Gr &I T HAGEY FoN IR IR TS garT

forar arar 3ia O%d @9 9HT 4T §

A) 2.6
B) 2.7
C)2.8
D) 2.9

51) IBM's solution for high-availability clusters on the AIX
Unix Operating System

A) PowerHA

B) HADR

C) x86 Cluster

D) Failover Cluster
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51) UNSUFH FiAdH Taloel Yool X 3T 3TcTstcl
Tl FoIEe HAT SATTH T FATA FIT §

A) e

B) werudiam

C) waas6 Fereex
D) her3iter Fereex

52) Which command permits to schedule jobs for later
execution in Linux ?

A) at

B) %

C) batch
D) cron

52) HIT-AT FATS Adaq H IwEMHA Fsuesd Ffaw w7
AT F H AT T § 2

A) te
B) %

C) d=r
D) #re7

53) Which of the following package is/are used for reading
HTML and XML data?

A) httr
B) http
C) httx
D) All of the options

53) fArafaf@ad & @ FiF-@ e radvava iR
TFHUATS 3T Hl e iU 3YANT fHam Srar ¢

A) httr
B) http
C) httx

D) smiera a8 Repeq

54) What is the CIA Triad in information security principles?

A) Confidentiality, Integrity, and Availability

B) Connectivity, Interoperability, and Availability
C) Connectivity, Interoperability, and Accessibility
D) Confidentiality, Integrity, and Accessibility

54) Er=T FI&T fewidr # s s #4r ¢ 2

A) ageirar, gATfOehar 3R Saerstrar
B) TieerdT, icaRuaTer= e, 3R 3erstdn
C) Heggrar, HeRvare e, 3R gerstar
D) afrosfierar, smenforwar 3R gersrar

55) Which of the following is NOT satisfied in third normal
form 3NF in database design?

A) Every non-trivial functional dependency begins with a
superkey

B) Every non-trivial functional dependency either does not
begin with a proper subset of a candidate key or ends
with a prime attribute (no partial functional
dependencies of non-prime attributes on candidate
keys)

C) Every non-trivial functional dependency either begins
with a superkey or ends with a prime attribute (no
transitive  functional dependencies of non-prime
attributes on candidate keys)

D) None of the options
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55) 3reed  3ffeedeT A X THAET & 3UATH A
fArfaf@a & @ Fia-ar dqse a6 ¢ 2

A) 9% - Joo FrlicAS IR UH WA I
I ¥ 1

B) g% IR-goo #rdicA® fsRar a1 aF $R33e Fot &
3T SUHHTIT A YE AL Bl AT Teh T faRIwar
& WY FACT gl g (ST Fodl W IR-gH@
fadwanst fr w5 S FRATcAS FIRAr Fg
g )

C) g IR-Jeo FrEicAs R a1 o v gwdr
YT BIAT & AT Uh YW AATAT & @Y AT it
g (PfEse ot w RvEE FRAvanst & g
iR Gehaleh draicaes FeRar =gf & )

D) 1§ faeheq w1gl

56) Which of the following focuses on the discovery of
unknown properties on the data?

A) Data wrangling
B) Big Data

C) Machine Learning
D) Data mining

56) ArAfaf@d # & @la-@ gfhar swer # Ageaqor
I Wietet W FHfgad & 2

A) greT Tl
B) fqer srer

OF:Ncicito
D) grer #vsfer

57) Name of SAP system which forwards the incoming

requests (HTTP, HTTPS) to the application server (AS) of
the SAP systems.

A) TREX

B) ROUTER
C) SOLMAN
D) SWD

57) TEUd yonfodt & Uftaded daY (VuE) #H 3Eae
Y (TEdEd, wdddTE) & 3ERa wearer
TOUYT YOTTell &l o118 &7 § -

A) rew

B) ®ex

C) Areaa
D)'Q'\qgm‘@'

58) is not a virtual machine.

A) Docker
B) VMWare
C) LPAR
D) Xen

1:) [T T g3 AAAT FE T

C) vardiusm
D) iy

59) A common threat faced by web developers is a
password-guessing attack known as

A) Phishing

B) DoS Attack

C) Brute Force Attack
D) SQL Injection

59) A9 STAYY GART HHAT HI SAAdTell Th MH Gl
Teh UrHGS- He[HA of@laAdlell 3¢k §, Sl ... & &

H e Frar ¥

A) fsRIaT
B) disiww 3w
C) 5 BrE tw

D) wereruer goerert
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60) OBIEE stands for ?

A) Oracle Business Intelligence Expert Edition

B) Oracle Business Intelligence Enterprise Edition
C) Oracle Business Internal Expert Edition

D) Oracle Brand Intelligence Expert Edition

60) 3NI3TSSS T FAToT FAT & 2

A) 3 IfRAT Sfoeia teaue iz
B) 3erer RfAew sefocid deturssr ufgerT
C) st Tafde Seofar veaue ufser

D) 3ierer sz Seforeid Terade ufsers

Pagel150f15




Answer KEY:- IT

Question No. Answer Question No. Answer Question No. Answer
1 A 21 D 41 C
2 A 22 B 42 D
3 A 23 B 43 A
4 D 24 C 44 D
5 C 25 D 45 A
6 D 26 C 46 A
7 B 27 B 47 B
8 D 28 D 48 B
9 A 29 C 49 B
10 C 30 withdrawn 50 D
11 A 31 B 51 A
12 B 32 A 52 D
13 C 33 B 53 A
14 B 34 B 54 A
15 B 35 B 55 A
16 C 36 C 56 D
17 D 37 A 57 D
18 B 38 C 58 A
19 D 39 A 59 C
20 B 40 B 60 B




